
Test1 : 

3
: C : ( )

public int aMethod(int a,int b){}
private float aMethod(int a,int b,int c){}
public float aMethod(float a,float b){}
public float aMethod(float a,float b,float c){}

java
: A : ( )

: C   : ( )
ZYXX



ZYXY
YXYZ
XYZX

instanceof : 
: C   : ( )

"private" : 
: D   : ( )

init ()
: D   : ( )

/sbin/init
/bin/sh
/etc/sysvinit
/etc/inittab

()
: C D : ( )

Thread Runnable
synchronized

Linux
: A   : ( )

#shutdown -r now
#halt
#reboot
#init3

: 

)

/etc/sysvinit
/etc/inittab

()()

Runnable
synchronized



? 
: A : ( )

X X server
: B : ( )

TERM
DISPLAY
ECHO
OUTPUT

; 
: B   : ( )

: B   : ( )



value=6
value=8
value=3
value=5
value=4

: B   : ( )
I am a cat
Animal Cat
Animal Cat

: A   : ( )
6
10

Cat



16

: A   : ( )

88
count
System.out.println testtest


